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2/3 - Solving One-Step Inequalities

Equations Inequalities

Add # to both sides Add # to both sides
Subtract # from both sides Subtract # from both sides
Multiply both sides by # Multiply both sides by #
Divide both sides by # Divide both sides by #
Switch sides Switch sides

Change the signs of both sides Change the signs of both sides

All RED rules:




—2<5 right?
Now switch sides:
5<-2 777 No!
55-2 Yes!




4<6 right?
4 6 . .
> < > divide both sides by — 2

—-2<-3 WRONG!
—-2>-3 Switch the inequality sign

2=5 right?
—1-2<3-=1 times both sides by —1
—2<-3 WRONG!!
—2>-3 Switch the inequality sign




10>—-4  right?
Now change the signs
of both sides:

—10>4 ?77? No!
—10<4 Yes!




han he In li lan when:

1. you exchange sides

2. you multiply both sides by a negative humber
3. you divide both sides by a negative number
4. you change the signs of both sides

Do you change the inequality sign or not?
—7<8+x —11+n<-17
RS N

—-30 > -3v 13 >—
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Solve each:

—11+n<-17
—8x > 56 411 —+t/
— (=
XL =7 N =
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—2. X > _4 - —7<8+x
-12 ' % 8
wx < 48 ={ISE 5
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Solve each:
x—2>15 =36 > —3x
+27 +2 = =
K= AT 12 < X
- n -
2T7>x—7 U= " =
+> iz —d
~20 > v —{>n
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